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Current level = 3 of 4
nunber of iterations = 100
shrink factors = [2, 2, 2]
smoothing sigmas = 0.25000000 vox
required fixed parameters = [120, 120, 66, -119, -119, -65, 2, 2, 2, 1, 0, 0, 0, 1, 0, 0, 0, 1]
Iteration,convergenceValue,ITERATION_TIME, metricValues...
conv: 1.79769e+308, time: 4.84s, Metric 0: 0.00336347

1.79769e+308, 3.20s, Metric 0: 0.00334563
1.79769e+308, 3.21s, Metric 0: 0.00333573
1.79769e+308, 3.15s, Metric 0: 0.00333113
1.79769e+308, 3.21s, Metric 0: 0.00332891
1.79769e+308, 3.17s, Metric 0: 0.00332804
1.79769e+308, 3.13s, Metric 0: 0.00332764
1.79769e+308, 3.10s, Metric 0: 0.00332772
1.79769e+308, 3.10s, Metric 0: 0.00332817

4.86034e-04, time: 3.04s, Metric 0: 0.00332873
1.91543e-04, time: 3.05s, Metric 0: ©.00332936
4.95373e-05, time: 3.03s, Metric 0: 0.00332999

13, conv: -1.56685e-05, time: 3.04s, Metric 0: ©.00333070
Best metric for level: 0.00332764

Current level = 4 of 4

nunber of iterations = 100

shrink factors = [1, 1, 1]

smoothing sigmas = 0.00000000 vox

required fixed parameters = [240, 240, 132, -119.5, -119.5, -65.5, 1, 1, 1, 1, 0, 0, 6, 1, 0, 0, 0, 1]
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